cpX = 63.2679

X = 12.2430574 * r + 44.4548 * g + 6.5701 * b cpY = 58.8178
LY = 4.6321 *r + 44.6748 * g+ 9.5109 * b cpZ = 50.0188
7= 0.5227 *r+ 4.69 * g+ 44.8061 * b
sc1TX = 0.0914
sc1TY = 0.007009
| sc1TZ = 0.0

=
Protanotope AR R

£check / Yes N\

No I

~_

TX = cpY * sclPZ - cpZ * sclPY; TX := cpY * sclAPZ - cpZ * sclAPY;
TY = cpZ * scIPX - cpX * scpPZ; TY := cpZ * sc1APX - cpX * sclAPZ;
TZ = cpX * scIPY - cpY * scIPX; TZ := cpX * sclAPY - cpY * sclAPX;

X=-CTY *Y +7TZ *17) / TX

[Simutaiion ]
Deuteranope 2 x <o o
 onecc [l Yes \ / No )

TX = cpY * scIPZ - cpZ * sclPY; TX := cpY * sclAPZ - cpZ * sclAPY;
TY = cpZ * scIPX - cpX * scpPZ; TY := cpZ * sclAPX - cpX * sclAPZ;
TZ = cpX * scIPY - cpY * sclIPX; TZ := cpX * sclAPY - cpY * sclAPX;

Y=-(TX*X+TZ*12)/TY

|_simuistion|
Tritanope CLx e s oy

@ check / Yes L / No L

TX = cpY * scITZ - cpZ * sclTY; TX := cpY * sclATZ - cpZ * sclATY;
TY = cpZ * scITX - cpX * scpTZ; TY := cpZ * sclATX - cpX * sclATZ;
TZ = cpX * scITY - cpY * sclITX; TZ := cpX * scTATY - cpY * sclATX;

Z=-(TX*X+TY *Y)/ TZ

scTAPX = 0.08008 |
scTAPY = 0.1579
scl1APZ = 0.5897

r= 0.13096 * X - 0.13122 * Y + 0.0086511 * Z
SCIATX = 0.1284 ———— g =-0.01355 * X + 0.03648 * Y - 0.0057552 * Z ——
SCIATY = 0.2237 b = -0.0001089 * X - 0.002287 * Y + 0.02282 * 7
sc1ATZ = 0.3636
sclIPX = 0.9856
sclPY = 0.7325
sc1PZ = 0.00108
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